Progress test 12 Units 23 and 24

Choose the correct answer, A, B or C.
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Who do you ............ with at the weekend?

A keepup B hang around C fitin
............ the end, we managed to escape the floods by boat.

A In B At C On

That joke is ............ old - I've heard it several times before!

A hardly B rather C  barely

Try to remember to ............ off when you’ve finished on that internet site.

A send B break C log

It's more exciting to watch ............ comedy in a small club.

A active B live C actual

A message ............ up on the screen, but he ignored it.

A came B got C held

We ...t off at dawn from home in order to catch the flight to Rio.

A took B set C gave

lwish | ............ a bigger laptop now.

A bought B would buy C had bought
If only they ............ about the storm, they would have found a safer place to stay.
A had known B knew C could know
Let’'s make ............ those rocks — there’ll be more shade over there.

A but B up C for

You look too ............ to be going to an interview — shouldn’t you wear a suit?

A smart B scruffy C stylish
A is a very strong wind which blows in a circle.

A storm B tornado C monsoon
James ............ his present as quickly as he could.

A unlocked B undressed C unwrapped
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A

The soldiers ............ a brave fight, but were eventually defeated.

A put out B puton C putup

Be careful not to ............ in the wrong password or you’ll block the account.

A key B draw C turn
Canyou ............ me the story again about Mount St Helens?

A say B tell C speak

It’'s a messy job, so let’s ............ it over with as soon as possible.

A get B take C keep
[ rather have dinner now, if that’s OK with you?

A could B would C had

| hope she ............ visit us next year.

A could B can C would be able to
We settled the ............ between the three of us so that Ben didn’t have to pay.
A cost B hill C price

The archaeologist ............ a Roman vase during the dig.

A unearthed B untied C unbuttoned
Areally ............ climate is one which is cold and wet, as in Ireland.

A humid B overcast C damp
............ wait out in the cold, why don’t we go to that café?

A Instead of B Rather than C Except for
| hate people who have lots of money and are always ............ off.

A calling B telling C showing
The man didn’t have to go to prison, but was ............ off with a fine.

A et B sent C cut
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